L v
#

B E 4

HE%K

135001
—IF %
VY
I %
#i%

IE & B3 X 77
AAL T % R
W 75 20
HERITE

5,000.00

gWMANEK
RuE e (3
1)

2,396.00

ELB X 75 K AL

I H 4R #

1,000.00




TN N

i & ELE L6
#.BX
3#.6#.8#H K
2 =@
D#.TH#.9#1k 4
& 1 T 42

2,000.00

136—HE
& A 3%
ETA
5

R EP T

W % AR 4531 1
1 W 22 %%

1,780.00

204001
—IF %

A Fil B B IE A

1 ORK NN




VA Dl BN I N 2 S VA QY VA [PV L FAVAV]
ELKF

B

%ﬁg b e Bk

7ZEF R H 1,731.00
SR e
ey =




+ R

e 1,000.00
+H. B EAE
waga | 200000
208001
— ¥t %
HEEA
WIR

E A7 3R
sy | 2000.00




302001

— I

E1R%
I

PRl % 2% A% BB
A (F
FEE)

3,100.00

308001
— I
HEET
TR Ry

WA E R LR
B 57 PR [ A1 Bl

1,900.00




HEWE
£ E B AR — R
Jik, A F5 AR
1 EBRHE. BEE 2T E V. BEEMsBGEER | FHER
RAE STHENAERAME: 1IEFEMTITAREE Rk | FHEKF
BB R e . IR IT KA TR Rk KR B R R VEAT [ = B 3e A
TR, B EHRORE Y — R AMR; 2 RSB
KAET BEENFTAETRE . %%mﬁ%ﬂﬂﬁﬁi,%%
DN400—-600; 33MHEWIT AR E E 0 m B ET E . 3 E i R 3 18 AR
XO&## (FH, i) KAV IANEWFTEREHE
(W) AT B E; 4B KERAEMNEERTRE: HEF _
KA AN E, S FDN4OOUPVCA #+, 4.2 TH . 334 | FHIER
H 5.4t X B %K21000% 7T, T E %] FF T e 202348 I
9F , #3k T IE202549 7 . i 5
= A8 AR
7= A8 AR
7= 48 AR
7= 48 AR
7= 48 AR
R 3 45 AR
oA KByt He T E, Pat 3000 x 2500 # T HEAK R FHER
500 k. DN1000 3 TR AZ W 8.9 k. HEZR 1 | HEEIRK
B, AEEHEEHEHF . WAKEELH, ‘ _
JX, AN F8 AR
7= 48 AR
R 1 5 AR
JX, AN F8 AR
R 3 5 AR
7= 48 AR
20255 B35 KA BT H 7= 48 AR




W R E AT

=l 4B AR

R

HE & ELVE VL 16 20 B X 3#.0#.8# AL Wk B & # Fnb# TH#.OHE 4 %

T AR

it B A8 AT

P2l 4B AR

B3 36 AT

=l 4R AR

P AR AT

=l 4B AR

R

JRAFEAT

WX (A FNF K ) 162.98% F F k47 8 3F A 15 & ol
KR ﬁﬁﬁ% T34 ik 4 B B FE L A A R
%‘}%%; EME (£ZNAKX, g, EF., RiL) £&
IR OEAE 5 B X 27 N 0] Fr 2 B & de o 0] OF T AR, B AR
T A @ﬁm;7@é%ﬁEééﬁﬁE%ﬁ&ééﬁﬁ
EH RS FALARR D R K B AT AT T ALK A xt
f/T\Eié‘cﬁE%&%@E%‘%%é’ﬂﬂﬁz%ﬂﬁtf‘%%ﬂjf’ﬁJkiiﬁﬁﬂir?v
i% #E A

= AR AT

ek R

R

= 4R AR

P A AT

B3 38 AT

B3 36 AT

JE 45 A

2 =
VTSN

A AT

PRAME BT, BEAKERA, EFAESTFH, LH

WEME w/BRER R MR AN AT

=l 4R R

P2 A AT

P A AT

&R R

JE A5 A

2 =
R

A AT

B 3 38 AT




A= S VYN = B

YN 7 JE PN K INIAN N BN I HY N Ny

BEGRYT, REERMEAE,

AN = N

AR AT

P AR AT

A AT

AT AT

ek R

PR AT

Pl 4R AR

=l 4R AR

ARG AT

PRMBRYEE EEE DR T L,

it B AR AR

ek R

ek R

=l 4B AR

R

G

P A AT

&R R

it B AR AR

=l 4B AR

= 4R AR

P A AT

Pl 4B AR

ek R

= 4R AR




B 3 18 A

= 4R AR

JRAFEAT

A KEEEINI 2 28T F M B A4 TUE oy L,
HRZE L2, ZERF03F628AN, #EHH
1180.749% , AT X 7 W R (977728, EIHEHFK
% 4 #23933.167 76, BUF MBIk 81407 TT.

= 4R AR

=l 4R AR

P AR AT

3 45 IR

2 31 78 A

it B A8 AT

PR AT

Bt AT L3 BAESF AME . KRR RALR . HE %%

Pl 4R AR

=l 4B AR

P AR AT

=l 4B AR

P2l A AT

P2 A AT

3 18 A

B3 38 AT

it B AR

ARG AT

RAE (7 = RRE) (AT mHEHENTEN) (E
P EETENG) (W —RET R RBEATS
) FAE, ERT FRESHETE, RN ES0F 7T
K, FEIRE000K, & KA & MR H78004, &R F IR
BERRRE. W, WX, BEF1E, BET F KRR
X34, #RTHLe g WAL, RH#ZFFT 5K
ﬁ%%ﬁ,ﬁﬁ%ﬂ?%ﬂi%ﬁ?%ﬁ%ﬁﬂ%ﬁ%%
R

= 4R AR

P2 A AT

P A AT

Pl 4B AR

P2 A AT

P AR AT

=l 4B AR

P2 A8 AT

3 18 A




B 3 16 AT

it B AR AR

AT AT

P2 A AT

3 78 A

Pl 4R AR

=l 4R AR

JR AR AT

it B AR AR

T S RRBE S, AT REATE, IR | RAERER

FEREERANABRE, 2REMSHFHAGH B | FHER

THE, B ERE G, 398 LG i BBk, %
PR R, KRB B A 4 AT

=l 4B AR

AR T AT

R R

Pl 4R AR

= AR AT

JR AR A5 AT

BRAEWEER SN 2 EREKET KRR, #R2E [ = HEHnr

RAERTZEREFROGE, AT LB~ Bs— I Fymp

B AREGH, AMFTERNERERETRESE, RIE
BEREABETER, #—FAFARBEAEREE, RE | #EEHERK
ERABEE, REERFXEME, EHAANERTET

“EREA" , “BERRA" , EXETAKFN LAy | T HER

B o7 F R 4 R G

3 45 IR

AT AT




S H IR

[=>

- Bdek = B iR E Bk
ERAKER | GEEEAKEH = 5000
FE FET AN = T
T A ARERE = 50
REh FET = 5
Ik
e | o (— % \
%&/ s o s N \
AR 3 AR WK A HE B A o b %
)

FEh REBRERBE = 700
Wﬁgifﬁ BAEEE > 08
AR AETT = 33
HEh KRR AR > 1
g HEEETT = ;
FETT GBI RS ERRE = 3
FEIh FEBEAEE = 700
AR BT FA LT LK > 100
FE W& W TIEAE > 500
%igiﬁﬁ K 45 5 AR B R . 08
ERAANR | REERAEEAK = 5306
HENh HER T AR = 8.0

= 1
wAMENE | FRABTRELE ng f
&)
ERRKE FRLEAE = 7000
wamad | BETEARER | g |0 HICSERIO0
HERh FERARE R = 1
FET ERERE = 700




AR5 3 & B

A BErxmEE = 98
38 35 AR T 52 R B A < 12
B EIRAT #FAKE = 60000

i 53 &k & NN _
E{#E{JV]% ﬁ/‘/\/ﬁﬁ =2 = 100
& 4 An F SFUCHT 7 AR 17952.02
ST EEZAE 700
JE T8 AT T E I YA 8 X = 100
B EARAT R AR = 10451.4
38 35 AR T B 2 3% A < 3
BERT BHEFHK = 140
G Rk AR AT JB Bl KA < 2000
Y= EWMR (&F)AFKX) 278
REER | Taxmpemsrs | 7 ol
MA N 9 Y A e
71&5%%517% ? %7@@& /@jﬁl{;%i&é@jé B it} > 7
yh B ) E:%ZE( %)]]}ﬁl’[:)16298
—— T ERE FEN AT
SESCk 4 7=l R B < 1
RERR | AROEREANERTH | - 2
EARERR | AORIATRIERDH | RE 7
R Q=N HEW TR T A& 7 P 17
(eI s
2 AR AT S TR= o < 1780
BERT AL = 10
B E AT IS E S s & = 20
BERIT B KB A SR = 87
é‘ AJ ;{i N = e :‘i
ﬁ‘ié\ﬁi{ﬁ'ﬁ%‘éﬁ J&?Fiw%@i}; %F’%E&T/\ > 08
HE‘ @iﬁf = BAKEE > 08
2 kAR AT /N K B AR % i 4 A 360
iﬁ&?fl%’i%’%ﬁ [Kﬁfljﬂ(:]://lbﬁi QE%F/EIE %% > 98

T




ERRAE TEXEERRT = 70
FE REBKAEE > %8
BRI TR ER B = >
AR | JEXER L EREREY | < 33
B A7 K% b b _ 30
EFARER |  ALiAEAiE = 7050
it 2% 48 AT 52 T ] O 2025.12.312 T
FEET TERER & = 1
BRI FELTBED = 220
%ﬁgifﬁ\ KA A EEE | = %0
Y-S /’\\‘ \ 25 =
#(%%Ejﬂ? %TQ#TJ/E{JC/%\\j;%/;K%iE& > 1
e | ERALEFARRERE
BEER | TEm (keaAEn) > 5.84
AR =R 1
. B R LR LRI
ikfﬁ%%i? %%ZK&/\E = 76
s | BEARGTALRALE
FET TEREERE R = T
7 T 1 4[5
Wﬁgifﬂ B E R KR R > 85
REET ENEZRAR = T
e | RRRLEFAREERE
LR mR BT > '3
FET R ERRAETR > 10
FET AL EREAARE > o5
XETD TFIMKR AR,
WENRE | RO TFUAREAGZRA | = 1000
W 52 i At B 2 T B
WEHGE | BEAKLAHFEEE > 5




TR AR S R K

&AW 3 ARAT R % > 5
by 8 R~ \ 3 /’\ ;H-
2371 NE R b5 EIEBZ%'K%’”%J L < 1731
TRAEE ., KEEFW 2
E AT %lx)ﬂi{ﬂi‘ﬁ«%%lﬁ EEERG = 9
] g
Ji & TR AT A A MEEARE b > 95
Bt 2% F8 AR 5C K, B[] = 1
257 71 46 AT ot B Uk = 8140
S G EHLERF = 203
A B .
FE A Ar R %3 & & 95
25 ARG AT ERGEE J: A < 1000
REFAT SHEREKRLE > 200
BEIRAT G ENE = e TR > 334.392
B E AT e 5 B > 77
HE AT AE W £ 1K + b AR = 2226.573
& F8 AR K4e RBEKE = 100
Bt 3% 38 AT P R R Bt < 1
25 5 8 AT 3 NN = 3
HomumiEn| BAL2EIL, 2R JE M = 7t
BAHARR | zumpwsn > 08
25 K AR R AT TE ALY = 20000
EFAT MR & = 500
AERh EERBWRAT = 00
ER T 7 RRER = 3
EFAT A A AR X 3 > 1
y =y - W H =R IR R R E
REER |\ 7 e mr. mps | 2 1
B E AT IR > 5000
J & TR AT kR I A = 100
Bt 2% 48 AR 5 K, B (8] < 1
2573 R 48 AT o NI 2 S = 2




2R 31 48 AR PR R IREE g o el g5s
e T T -
7 4t i WE RS EE = 90
2 W =R i H % < 2000
¥ EIEAR B TR BT 4 W 2N B AR > 1740
v |AEEAEEATFERRE | - -
ﬁi/z\)&ﬁjﬁ%aﬁﬁ /%%Xiiﬁj%%)x /{’% ?‘Lféj‘fﬂgiﬂ’
¥ & 187 RO T B RN B A K = 20000
¥ & 487 B T AR AR AN B ALK > 84000
2 R ARG AR I, T AR AR AR I AR vE = 210
r A a2 Ak b =
2 R ARG AR \l Bt e B AR VE M 500-50007G
¥ & 1847 KR R AR AR AN B AR > 300000
LKA TH4TTIA
2 R A8 R W, 2 4 I $Bh AR v =M | /A, #WA. 102570/
AJH
= RN B BB A AR = 6600
2 R A48 R R PR PR AR > 170
/f‘k/’\ i ﬁ? N /\\
FEsay | " %‘f éﬁﬁ{ﬁf? BAL 5 96
i 2% 48 A A & i B B = 1
/f('f/,\ o : K 3 N
Fadn |FARORRERNAEAL 06
25 A A ﬁ%%%%ifﬁ%%%é < 19000000
#EIEAR WHEERSRY T AR > 30
T E 16 AR WHEERSERE > 99
fit @fﬁf = BAHE > 90
i 2% 48 A E J7 #h B 2 A% B A M 2025411 A #T
i 2% 48 A BE 7 Pk o 1% B 2] B = 100
HodEte | AELEENRESREEZR > 95
2 W =R i W B K AN B AR = 60




BAL. B

E%* & I AL
= 1 10 FAETR
AE 10 AT
AE 10 AT
AE 10 R R
20 3

% 10 1E 18] 45 ¢

% 10 1E 18] 45 #r

110 FaER

G THER

7 5 R

Ty R AT

% 10 1E 18] 45 ¢

A 10 1E 18] 45 ¢

X 1 5 THER

% 10 1E 18] 45 #¢

= 1 20 FaER
rE | 5 THER
10 I f45 4

== T 20 FAETR
20 1E 18] 45 ¢

A 10 1E 18] 45 #r

% 10 1E 18] 45 #¢




% 10 IE 1 48 AF
A 10 R 1] F8 AR
o, 10 1E 1 48 A
% 10 IE 14 48 A%
Fak | 10 1E [ 4R AT
% 20 1E 14 48 A5
% 10 IE 14 48 A%
Ek | 10 IE 14 48 A%
F 10 R 1] F8 AR
F 10 1E 1 48 A
7 TG 10 R 1] 38 R
B 10
B 10
FEaok | 10
H 10
3 10
10
10
% 10
7 TG 10
3 5
F 5
3 5
% 10
% 10
7 TG 4

%

10




71 TG 4
% 5

/i TG 1

i TG 1

FFEI| 1

NES

71 T. 5
% 5
| 5

5% | 5
% 5
T 6

(%)

i | 6
F | 3
A | 6
% 8
3
% 4
% 5

KK | ©

7w | 6

7E | 6
% 3
% 3
T

6

(&)




A

()| 8
N
(% 3
TG 3
A~ | 15
% 15
E=S 10
TG 10
P 10
% 10
TG 20
X 5
N T
= ;
wH 10
% 5
3 5
1. 70 10
10
% 10
7 A
%{fi
yo 5
R 5
R 5
= 5
p2 5
% 5
3 5

%

N
O




10

% 10
F TG 20
AR 4.5

20
AR 4.5
AR 4.5
TBIA*
i 5
% 10
5
AR 4.5
5
AR 4.5
TN

e 5

% 6

4 5.5

% 6

e 10
F A 10

% 10

% 10

10

% 10

% 20
TIA 10




